Day 18 Quiz

. Each of the following show America’s commitment towards containment
around the world except:

a. Roosevelt Corollary

b. Truman Doctrine

c. Eisenhower Doctrine

d. Marshall Plan

. What was the main point of agreement between the nations that attended
the Yalta Conference?
a. That Germany should unconditionally surrender and pay for all
reparations
b. That Germany would be divided into separate zones administered by
the leading allied nations
c. That an allied invasion through France would be better than an
invasion through Greece
d. That post war European countries should be given free loans to help
rebuild their infrastructure

. During a speech in Missouri in 1946, Winston Churchill coined the term, “Iron
Curtain.” What does it mean?
a. The Communist aggression in Asia from Russia through Maoist China
b. The division of Europe into different demographic zones
c. The division between the Communist nations of Eastern Europe and
Western Europe
d. All of the above

. What policy was the result of the Yalta Conference?
Brinkmanship

Declaration of liberated Europe

Permanent, peaceful coexistence

. Communist Poland
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. The main concern after WWII for the Soviets was:

a. Their country

b. Their security

c. Expansion

d. Finding a new leader



